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/* FIHel Ao

#include

int main(void)

int x;
int y;

int sum; // 5§ =329 &= X & st

x = 100;
y = 200;

sum = X + y;
printf("FT2l&: %d", sum);

return O;

<stdio.h>
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// 0| 22 ™A 7} FA0|C}.
int x; // BH= x A

/*

* 1t O|2: add.c

"M E4E Cle Zaa
* Xt AF : In-Gook Chun

*/

/*************************************
* mh2l 0|2: add.c

*MY  E4E Ot Z203Y

* Xt M AF : In-Gook Chun
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/* :]H O| Aﬂ | 6:’% j4|/&5+5 Egjan*/ Z]do LH%%% N =
#include <stdio.h>

int main(void) §
{ e F=ol 9n|(QE)E F=HO

ron T

EﬂJO

o re

intx  // REW Z4S Y B 2awven
inty, // BV H4S HEE B
int sum; // R B0 B MAGHs B4

1

£§ i = 100;
y = 200;

22§80l H2l0l elolL !
Sas ol SoioiE BT

printf("S =2 & %d", sum);

r

* :

| sum =X +Y;
| return 0;
}
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#include <stdio.h>
int main(void)

{
int x;

inty;

int sum;

x = 100;

y = 200;

sum = X + y;
printf("S==2| &
return O;

}

%d", sum);

Konkuk University

In

2
3

o

i

re

00 10 110
_Lln
p
S
: _

44
3
0 rir 3

=
x
i




mKI2|7
#include <stdio.h>

#7|S 2 A|EH

|G Tt stdio.hE OLY| Lt

stdio.he & Q=

C}

ISESE=T

&4

#include <stdio.h>

int main(void)

{
printf(““HiII\n"");

return O;

Dl

int printf(char *,...D;
int scanf(char *, ..

int main(void)

{
printf(“HiI\n”");

return O;

}
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intx, // XBM d+== M&ot= B=
inty; // SEM F+5 HEGl= B

intsum: // & A9 &

&35t= HO|HE YAHZ
E AMESE 22| 57t
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AtE(data type): Rl7t e HIO|H 7t §4 QK| &421X], O
LI = OFE O HIO|H 21X S X[ g5t= A

&= REEd

short, float, char

int, double,
Tong Tong double
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intx; // W S XNA
inty, // SHM ¥3+S XN&AS

intsum; // & &89 &= H&ot= HAH
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™ At(assignment operation):
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100;

X
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= 200;
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S * X+y

e - -y

= * X"y
L / ROy

L}H X| % X %y
sum =X +Yy;

e
4T
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X+y
X~y
Xy
CEXx=+y
X mod y
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 printf(): ZL{HY =85 57| ?let #& =9 20[E82| &
A

T

2=
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scanf() | — ng

printf()| «——— ong
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printf(""Hello World!\n");

« Qls=(argument): gt0f| A o= H|O|H
« =AtE(string): 2AtEs= 02 i LIESH A

1

printf()

1 Hello Wo

Konkuk University 29



A NEN | el Ol

Jed d+5 108 +=2 =35t} 1, -2, 10, 20, -100
%t 2780 U= 242 SHeH. 0.1, 10.1, 3.14

J6C =X SE= T?:';._E}. ‘a’, 'A’

%S =48 i =4t “abc", "ABC"

oA Elol 2 RFY

\ 4
printf (st %d 2| A== %f \n", nunber, heidht);
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#include <stdio.h>

int main(void)

{
int x;
inty;
Int sum;

printf(' AT XS ASEA| 2,

Il

scanf("%d", &x);

printf("SHR| XIS QUASIA|2:");

scanf("%d", &y);

sum = X + V;

printf("F==2| g %d", sum);

return O;

/RN 5 MY Hay

/] = HH o—f—g Mg #Ha
/2702 0| gt MY B
// YE U HIAX| =3

// otLte| & BOFA x0f M
// oE U HIAX| =3

// otLte| & BOFA x0f M
/5= 270 S HetLt

=
=
// sum?| Zt= 107l YEfZE &

// 05 2|F = gt
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scanf():
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#include <stdio.h>

int main(void)
ANERIZHE /UG E

{ olTdd =
) it =T+
int salary;// 22 |

: L —
int deposit; /] M= UTol 10x122 Do

— — o 10 TAA MEY
printf("25S REHSIA2: "), 2 THIAERITH
scanf("%d", &salary);

71_1_7_}.
deposit = 10 * 12 * salary; /
printf("10EH S 9t9| X =M %dWn", deposit);

i

e kela=

=

return O;
}
== 2E0olAI2: 200
108 =0tol H{=2H: 24000
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/* Ao = Atlots ZE1HY/
#include <stdio.h>

Int main(void)

{

float radius; // Q| BtX| &
float area: [/ HAE

printf("EIX| &S5 RIESIA[2:");
scanf("%f", &radius);

area = 3.14 * radius * radius;

printf("& Q| HA: %fWn", area);

return O;

SIS = & =0otAl2: 5.0
&2 HA: 78.500000
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/* 1SS AASIE 2 a8/

#mclude <stdio.h>

int main(void)

{
float rate;
float usd;
int krw;

printf("=H2{0f CHot
scanf("%f", &rate);

printf(" 25t S42
scanf("%d", &krw);

usd = krw / rate;

Bt 2HES EOA L

—

RIEOHA|2: ),

// A/EE 2hE
// 2Bt
/] A=t

printf(" =t %d &2 %fE 2 ULICEWN", krw, usd); // A4t 20t =5

return O;

2 S oltAlL2: 928.78
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